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Orden de Operaciones (E)

Realice las operaciones en el orden correcto.

11,26 493,45 — 74,754 85,13 +59,9

. 56,49 484,24 82,52 422,93 + 60,28

. 15,15+0,52497,25+35,91 — 11,74

-79,9 x 2,8+77,79 x (53,91 = 17,97)

. 78,79 +459,95 465,73 — 37,24 496,53
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Orden de Operaciones (E) Answers

Realice las operaciones en el orden correcto.

11,26 493,45 — 74,754 85,13 +59,9

— 174,99

. 56,49 484,24 82,52 422,93 + 60,28

= 306,42

. 15,15+0,524-97,25+35,91 - 11,74

= 137,09

-79,9 x 2,8+77,79 x (53,91 = 17,97)

— 457,09

. 78,79 459,95 465,73 — 37,24 496,53

= 263,76
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